


Definitions

3 Parallel-- coplanar lines that never
intersect

2 Skew--lines that never intersect
because theg are not coplanar
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Transérsalw A line that ZOes across
2 or more lines
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Aﬂ gl es Same vs Alternate Side

(of transversal)

™1 — m
= 3 /4

’/ 8
Corrfé)n&ing Angles

Ifmln, L1245 L2 /6 ,£3=/LT7,44/8
Consecutive (Same Side) Interior Ang es

Interior vs Exterior

(of Para”el)

H

Iff m||n,Z4 + £6 = 180°  Iff m||n, £Z3 + £5 = 180°
| Alternate Interior Angles
Iff m||n, 43 = £6 Iff m||n, £4 = £5

. Alternate Exterior Angles
Emln, Z1=28 Iff m||n,£2= 27
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Fuclid’s §th Postulate

It consecutive (same side) interior angles are not
supplementarg, the lines are not Para”el



Our Book’s aPProach

Postulate:

It and onlg it the lines are Para”el,
| then Corresl:)oncing angles are congruent




Theorem: If and orxlg if the lines are ara”eL
then Alternate Interior Angles are Congruent

Given: m || n sk

Prove:£3 £ 6 / ;  Alt Int £’s are
3 =2 /T .
26 =l /
£3 = 26 Given: £3 = £6 /‘

Prove: m | n /‘,"




" Theorem: If and onlg if the lines are Para”el,
then Consecutive (Same Side) Interior Angles are

| SuPPlementaxy

Prove:Z3 + 45 = 180°

Given: m || n /‘ Cl/’s are SUI)I)

£33+ £1 = 180°

/5= /1 o

Given: 43 + 45 = 180° 5/

43 + 45 e 1800 Prove:m ” n /ﬂ

43+ £5 = 180°

£33+ £1 = 180°

L3+ 45 =43+ /1
£d = /1

m|n_



f:xample:

Given: /1 = /2: /4=~ /5
Prove: PQ | RS

/1= /2 Given

42 /5 Vert. Z ’s are =
L5 = /4 Given

1= /4 Transitive

PQ || RS Alt Int /’s s are =



